Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Note: Answer F mieach module.

1% full questions, choosing one full question f r

3 Module-1 4
Describe with neat sketch wash boring technique to explore 50
The following sizes of. samplmg tubes are available in market
Sample No. RO [T Y A
Outer Diameter (mm) 45 15110 | 50 WO
Inner Diameter 721107 | 35
Length (mm) 600 |'600 | 600 /.
Out of these which one would you select for obtammg undistributed Soil sample from a base
hole, Apply appropriate technique t ‘dlsturbed sample. (08 Marks)

(08 Marks)

Explain with neat sketch, electrical re51st1v1ty method of soil exploration. (06 Marks)
Predict the Ground water table given the Tolluwmg data: Depth upto which water is boiled
out 18 m, Water rise in I day = 095 m; il day = 0.86 m and III day = 0.78 m, use the

Hvorslev’s method for predlctmg ground water table. (10 Marks)
Lo

" Module-2

Compare Boussinesq’s theor;y w;th'Westergaard ] t’Heory w1th a logical graph analysis.
(08 Marks)

Find intensity of vertical pressure at a point 3 m directly beiQw 25 kN point load acting on a
horizontal ground surface “What will be the vertical pre% -at a pomt 2 m horizontally

away from the axis of iQadmg and at same depth of 3 m? Us B ssmesq s equation.
. ‘ (08 Marks)

§ OR
Explain comp@nﬁ of settlements. g (12 Marks)
A reinforced . eonerete foundation of dimensions 1. 8m><3 6m exerts a upiform pressure of

180 kN/m \;»a soil mass, with E-value 45SMN/m?*. Determine the< Val 1e»of Immediate
settlement under the foundation. Take p = 0.3 and If= 1.0 5 (04 Marks)

Module-3 X \
Compare Coulomb’s Earth pressure theory over Rankin’s Earth pressure theory::~ (()é Marks)
Deter'nme the active earth pressure using Rebhann’s graphical method. <(16:Marks)
OR

A\Explain the procedure for determination of factor of safety using method of slices for C-¢-

soil. (12 Marks)

An Embankment is inclined at an angle 35" and its helght is 15 m. The angle of shearmg

resistance is 15" and the cohesion interrept is 40 kN/m?. The unit weight of soil is 18 KN/m”.

Examine the factor of safety with respect to cohesion. Consider Taylor’s stability number =

0.06. (04 Marks)
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Module-4 "
7 a. Defermine the bearing capacity of the soil by using plate load test as {per IS : 1888
g\iidé]ines. ({7 (08 Marks)

b. A sq;;gﬁ&\{ooting located at a depth of 1.3 m below ground has to carry ‘@ safe load of
800 RN\\Pf@dict the size of fooling which is safe against applied load. Ifithe desired factor of
safety is

' 0Assume e = 0.55, Degree of Saturatm = 50%m G = 2%‘6;7,,\\\{3"': 8 kN/m?. Use

Terzagh’(é‘f:rlj‘a.ﬁ;aﬂ*llj!}/sis for general shear failure. Assume ¢=30", Ne¢ = 37.2, Ny = 22.5 and

N;=19.7 (08 Marks)

OR

8 a. Generalize the as\‘s;umpt,iQﬂns made by Terzagh’s bearing capagity fheory for development of
bearing capacity equation. (08 Marks)

b. Determine the bearing-capacity of the soil by using stan@af‘t\i\ enetration test as per IS : 2131

guidelines. (08 Marks)

~-.  Module-5 N
9 a. Classify the various type of Piles based on material'and function. (10 Marks)
' (06 Marks)

b. Explain negative skin friction in'pile foundation. '/

TR

Explain with a neat sketch the constrdefionﬁnd“’working of under remmed pile. (10 Marks)
b. Justify with a neat sketch, how static fprmgl:a summarize the load transfer mechanism in pile
foundations. N (06 Marks)
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